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� ���� !"#�	$������ก��
����� �%�  �&%'�&�(��)*�����+$����
)���,)  ��%'��-���������&��� ���   �

��#�	$�*.�/�& ��
�ก01�  80/80  �&%'���ก������&��&��������ก�����*�'�� 5�)*�����+$����
)���,)  ��%'��-������
���&��� ���  �
����*�'�6���������	
��&%'�ก����ก���
���
������������#7��
����*�'��
��กก���6�
)*�����+$����
)���,) ��%'��-���������&��� ���  �#�ก,)��
*�'  http://203.172.181.231/webquest  
+�
�*�����G
ก�)��ก������	��)G���#�	ก�����)� ���G�G�&  $�����G����&��� ���."�ก��  ��*�����
$��&��G5���&G�)��0�  �.��%��  �.�&G�)��0�  #Hก����ก��  2551  -���0	��
��ก���
���
���

�6��$����ก��������	
��
������� 5��#��� 
  

4.1  ��ก
������
������������������ ���� �!�"�#�
$ก
����%& 
       +))*�$�)*�'�0	��
��ก���
���
�$�
�������#7�+))*�$�)G���  4   ����%�ก  �6����  

25  �
�  K�'���ก��$�
���������� 
      1.  ��%��
�*�'�6���$�
���#7�)������+$����
)���,)  ��%'��-���������&��� ��� 
      2.  ��ก��
����� �� ����%��
�  (IOC)  -���6�+))*�$�)*���
��  25  �
�  �



��
�G�'��G�Q�
����%��
�  3  *5��  &����0�����$����
��ก�)�� !"#�	$���  -��!
��
���$����
��
ก�)�� !"#�	$���ก6�
���

�	+���*5�ก�) +1  !
���5$����
��ก�)�� !"#�	$���ก6�
���

�	+��
�*5�ก�)  -1  +�	!
���5+�5���	��
�	+���*5�ก�)  0  K�'��5����� �� ����%��
�  �*5�ก�) 1.00  +�	
�
��6�!��*���
��$����
��ก�)�� !"#�	$���  ��
  25  �
�  (����ก/�����ก  �  
�
� 141-142) 

    3.  ��ก�����6��#*�����G
ก�)��ก�����*�'����5��ก�������  ��%'��-���������&��� ���  
��+�
�  ��ก��
�������ก T �5��  (P)  ��
�
�$�)*�'���5�������ก T �5��  ���+ 5  0.20 T 0.80  
�6����  25  �
�  +�	�6��#
��5��6�����6�+�ก  (D)  ��
�
�$�)*�'���5��6�����6�+�ก   ���+ 5  0.20 
�����#  �6����  25  �
�  �6�+))*�$�)*�'��
�#
��5������G%'���'�  -����
�5������G%'���'����
+))*�$�)�*5�ก�)  0.79  (����ก/�����ก  �  
�
�  143 - 146) 
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4.2  ��ก
������
���������ก
�(�����&�)*+
,�����%&���$����&��-�  ��.��$
/��$$
&���,���0��� 

       �0	��
��ก���
���
���
$�
��+))#�	����#�	$�*.�/�&���)*�����+$����
)���,)  
��%'��-���������&��� ���  -��+)5���ก�#7�  2  �
��  �%�  �
����%��
�  +�	�
��ก����ก+))
)*�����+$����
)���,)  ��ก��
�G�'��G�Q�
��$%'�+�	�*�-�-���  3  *5��  ��ก��
�G�'��G�Q�
��
��%��
�  3 *5�����	+���5��Y��'���กก��#�	������  ������ 

 

0
�
$  1  +$���5��Y��'� (Χ )  �5�$5���)�'���)��� �Z�� (S.D.)  ��ก��#�	����)*�����  
                 +$����
)���,)  ��%'��-���������&��� ���  �
����%��
� 

 

�	��)�ก01���������
,�K�'��$��+�	-��  john w.best,1983 (ก�Q���  ��(���", 2544, 

�
� 61)  +)5���
�#7�  5  �	��)  ������ 

4.50 T 5.00  ����ก 
3.50 T 4.49  �� 
2.50 T 3.49  #��ก��� 
1.50 T 2.49  &��G
 
1.00 T 1.49  ���#��)#�"� 

 

n = 3 
���ก�� 

Χ  S.D. 
�	��)�"0/�& 

1. ��%��
�+�	���� ��ก���6��$��    
   1.1  ��%��
�������$����
��ก�)�� !"#�	$��� 4.67 0.47 ����ก 
   1.2  �������)��"������%��
� 4.00 0.00 �� 
   1.3  ก��+)5���%��
����)*����� 4.33 0.47 �� 
   1.4  ����!�ก 
�������%��
� 4.67 0.47 ����ก 
   1.5  ������ก-  �5�������%��
� 4.33 0.47 �� 
   1.6  �����5�$��������%��
� 4.33 0.47 �� 
   1.7  ����G�������ก���.�)����%��
� 4.67 0.47 ����ก 
   1.8  ����G�������ก��$�"#��%��
� 4.33 0.47 �� 
2. /�&+�	/���*�'�G
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0
�
$ 1 (02�)    

n = 3 
���ก�� 

Χ  S.D. 
�	��)�"0/�& 

     2.1  ����!�ก 
�����/�&*�'�G
 4.33 0.47 �� 
     2.2  ����G��������/�&*�'�6��$�� 4.33 0.47 �� 
     2.3  ����!�ก 
��/���*�'�G
 5.00 0.00 ����ก 
     2.4  ����$����
���	
�5��/�&ก�)�6�)����� 4.67 0.47 ����ก 
3.  +))*�$�)ก5�������+�	
��������    
     3.1  ����G���������6�!�� 4.00 0.00 �� 
     3.2  ����$����
���	
�5���6�!��ก�)
�"�#�	$��� 

4.00 0.00 �� 

     3.3  ����$����
���	
�5���6�!��ก�)��%��
� 4.00 0.00 �� 
     3.4  �������)��"5�����
�$�)ก�)��%��
� 4.00 0.00 �� 

�4���% 4.35 0.23 �� 
 

 ��ก ����  1  &)�5��5��Y��'���ก��#�	����)*�����+$����
)���,)  ��%'��-������
���&��� ���  �
����%��
���
�5��Y��'�  (Χ  = 4.35)  K�'����5���	��)��  (����ก/�����ก �  
�
�  
128-129) 
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0
�
$  2  +$���5��Y��'� (Χ ) �5�$5���)�'���)��� �Z�� (S.D.) ��ก��#�	����)*�����  
                 +$����
)���,)  ��%'��-���������&��� ���  �
��ก����ก+)))*�����+$����
)���,) 
 

n = 3 
���ก�� 

Χ  S.D. 
�	��)�"0/�& 

1. $5��$���ก���������
+))�5���%� 5.00 0.00 ����ก 
2.  $����!$�
������������
�
�� ���� 4.33 0.47 �� 
3.  $%)�$�	
�������
��ก+
�5��������
�%'� 4.67 0.47 ����ก 
4. ก��$�
��+��������

ก�)��
�����    
   4.1  ก����ก+)))*���������ก�0	�5�$��� 4.67 0.47 ����ก 
   4.2  ก���G
/�&���%'���
� 4.67 0.47 ����ก 
   4.3  ก��$�
��+���������)*����� 4.67 0.47 ����ก 
5.  ก���G%'��-��    
    5.1  ก��������#���
�
���,) 5��a  4.67 0.47 ����ก 
    5.2  +ก
#bQ
�ก������� 4.67 0.47 ����ก 

5.3  �#c�-�ก�$�

��
�����ก��)�#��ก����%��
�*�'
�5����+�
� 

4.67 0.47 ����ก 

6.  ก���

�
�����
��ก��)    
   6.1  ก���

�
�����
��ก��)���-#�+ก�� 4.67 0.47 ����ก 
   6.2  �����
��	$�+�	����!�ก 
�� �� 

��กก���

���
��ก��) 

4.67 0.47 ����ก 

7.  ก��*�$�)    
   7.1  ���6�!�����)��"���%��
�+�	�� !"#�	$��� 4.33 0.47 �� 
   7.2  ก�� ���$�)ก������������
����� 4.33 0.47 �� 
   7.3  ก��#�	������ก������� 4.00 0.00 �� 
8.  ก���

�
����*�'�ก�'���
���&�'�� ��    
   8.1  ��ก�0	+
�5��
�����&�'�� ����#�	-�G�� 4.67 0.47 ����ก 
   8.2  $�"##�	��,�*�'G�����+�	ก	*����� 4.67 0.47 ����ก 

�4���% 4.58 0.16 ����ก 
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 ��ก ����  2  &)�5�  �5��Y��'���ก��#�	����)*�����+$����
)���,)  ��%'��-������
���&��� ���  �
��ก����ก+)))*�����+$����
)���,)  ��
�5��Y��'�  (Χ  = 4.58)  K�'����5���	��)��
��ก  (����ก/�����ก  �  
�
� 130-131) 
  

4.3  ��ก
������
����������,.���
(�����"�+
,��$�����%&���$����&��-�     
��.��$/��$$
&���,���0��� 
 ก��
�#�	$�*.�/�&���)*�����+$����
)���,)  ��%'��-���������&��� ���  ����������

�6�����ก�� ������ �������� 

1. ก
�����$� 6&��������ก�)2� �� 6$��� 1 
*����ก�)��ก������	��)G���#�	ก�����)� ���G�G�&  ��*�����ก����G�&G�+��  $��ก��

��G����ก�����
����&G�)��0�  �6����  35  ��  -���6�)*�����+$����
)���,)  ��%'��-������
���&��� ���  *�'$�
���$�,�+�
��#*����ก�)��ก�����*�'��5�G5ก�"5� ����5���6����  35  ��  �&%'�
�
�
�)ก&�5�����)*�����+$����
)���,)  ��%'��-���������&��� ���  �0	��
��ก���
���
�&)�5�  
��กก��$��/��0���ก�����������$�����)*������#7���5����  ��������
�����)*�����K�'���
#�	$�*.�/�&  70.56/72.22  +�	��ก�������
�$��+�	��ก���$5/�&$�  ���� ����ก����������,ก 
+�	�����/�& ����5�����G�������

��  ก��#��)#�"�+ก
��ก��ก���ก�������ก��$��  ��#+))ก��
�6��$��  ก���G%'��-��+�	��%��
����)*�����  ��
��ก���
���
������
)��*�ก��ก��$��/��0���
  
�&%'��6���#��)#�"�+ก
��)*�����+$����
)���,)  ��%'��-���������&��� ���  �&%'�ก��*���������
 5��# 

 
0
�
$  3  +$�����	+����กก��*6�+))*�$�)�	
�5�������  +�	+))*�$�)
��������           
                 ���ก�"5�*�$�)ก�"5��5�� 
 

������7�$(8�� 0�ก
� ���&&��� �2
�4���% ���%�� 

�	+��+))*�$�)�	
�5�������  (E1) 127 14.11 70.56 
�	+��+))*�$�)
��������  (E2) 130 14.44 72.22 
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 2.  ก
�����$� 6&��������ก�)2�  �� 6$��� 2 
       ก��*����ก�)��ก������	��)G���#�	ก�����)� ���G�G�&  ��*�����ก����G�&���G���)"��  
$��ก����G����ก�����
����&G�)��0�  �6����  20  ��  *�'��5�G5ก�"5� ����5��  �&%'�*�$�)
�
�
�)ก&�5�����ก���G
���)*�����+$����
)���,)  ��#��กe&)�5� ��ก�����������$�����
)*������#7���5����+�	$�"กก�)ก��������
��)*�����+$����
)���,)  ��%'��-���������&��� ���  
���*����G
���-#�+ก����
��#�	$�*.�/�&  80.25/81.50  �����
�6�)*�����+$����
)���,)�#*����
ก�)ก�"5� ����5�� 5��# 
  
0
�
$  4  +$�����	+����กก��*6�+))*�$�)�	
�5�������  +�	+))*�$�)
��������           
                 ���ก�"5�*�$�)ก�"5��5�� 
 

������7�$(8�� 0�ก
� ���&&��� �2
�4���% ���%�� 

�	+��+))*�$�)�	
�5�������  (E1) 321 16.05 80.25 
�	+��+))*�$�)
��������  (E2) 326 16.30 81.50 
  

3.  ก
�����$� 6&������7�$(8�� 0�ก
� 
     ก��*��������*�$�)�G��#e�)� �ก��  *����ก�)��ก������	��)G���#�	ก�����)� �

��G�G�&  $�����G����&��� ���."�ก��  ��*�����$��&��G5���&G�)��0�  �6����  26  �� +�	$���ก 
&f �ก���ก������������ก�����  &)�5���ก�����������$�����)*������#7���5���� 
��ก��ก��*������
�5�#�	$�*.�/�&���+))*�$�)�	
�5�������  (E1)  �*5�ก�)  80.38  +�	�5�
#�	$�*.�/�&���+))*�$�)
��������  (E2)  �*5�ก�)  83.46  K�'���
#�	$�*.�/�&�#7��# ���ก01�
*�'ก6�
���%�  80/80  (����ก/�����ก  �  
�
� 132 T 134) 

 
0
�
$  5  +$�����	+����กก��*6�+))*�$�)ก5������� +�	+))*�$�)
��������    
                 �&%'�*�$�)
�#�	$�*.�/�&���)*�����*�'$�
������ 

 
������7�$(8�� 0�ก
� ���&&��� �2
�4���% ���%�� 

�	+��+))*�$�)�	
�5�������  (E1) 418 16.08 80.38   
�	+��+))*�$�)
��������  (E2) 434 16.69 83.46   
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��ก ����  5  &)�5�  ��ก��*����
�#�	$�*.�/�&���)*�����+$����
)���,)&)�5�
�5�$!� ���ก+))*�$�)�	
�5�������  (E1)  �*5�ก�)  80.38  +�	�5�$!� ���ก+))*�$�)
�������� 
(E2)  �*5�ก�)  83.46  K�'���
#�	$�*.�/�&�5���ก01�*�'ก6�
��  �%�  80/80   

 
4.4  ��ก
������
���������ก
�(�����&���(�����&,!0�ก���ก
��:
$
&ก�)2� 

                    �0	��
��ก���
���
���
$�
��+))#�	����&f �ก���ก��*6����ก�"5�  -��+)5�
��ก�#7�  2  �
��  �%�  �
��ก���6��������  +�	�
��ก�	)��ก��*6����  ��ก��
�G�'��G�Q�
��ก��
�����+�	#�	������  3  *5��  ��ก��
�G�'��G�Q�
����%��
�  3  *5��  ���	+���5��Y��'���กก��
#�	������  ������ 

 

0
�
$  6  +$���5��Y��'� (Χ ) �5�$5���)�'���)��� �Z�� (S.D.)  ��ก��#�	����+))#�	������ 
                 ก���6��������   

 

�	��)�ก01���������
,�K�'��$��+�	-��  john w.best,1983 (ก�Q���  ��(���", 2544, 

�
� 61)  +)5���
�#7�  5  �	��)  ������ 

4.50 T 5.00  ����ก 
3.50 T 4.49  �� 
2.50 T 3.49  #��ก��� 
1.50 T 2.49  &��G
 
1.00 T 1.49  ���#��)#�"� 

 
n = 3 

���ก�� 
Χ  S.D. 

�	��)�"0/�& 

1. ก�����+��+�	�6��������    
    1.1 ��ก�����+�����#7�$5���
Q5 ��ก��
�6�������� ������ ��$5���
Q5 

4.67 0.47 ����ก 

    1.2 ��ก�����+�����#7�$5���
Q5 ��ก��
�6�������� ������ ��$5���
Q5 

4.33 0.47 �� 

    1.3 ��ก�����+������*"ก�"� ��ก���6��������
 ������ ��*"ก�"� 

4.33 0.47 �� 
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0
�
$  6  (02�)    

n = 3 
���ก�� 

Χ  S.D. 
�	��)�"0/�& 

    1.4 ��ก�����+��*�'$�)��0� ��ก���6��������
 ������ ����5��$�)��0� 

4.67 0.47 ����ก 

2. ก����ก���
����    
     2.1 ��ก���
������)���"� 4.33 0.47 �� 
     2.2 ��ก���
����$5���
Q5 4.67 0.47 ����ก 
     2.3 ��ก���
����*"ก�"� 4.33 0.47 �� 
     2.4 ��ก���
����$�)��0�+�	��#�	$�*.�/�& 4.33 0.47 �� 
3. ����$�)��0����G������    
     3.1 )���" ���� !"#�	$����&���)���"� 4.67 0.47 ����ก 
     3.2 )���" ���� !"#�	$����#7�$5���
Q5 5.00 0.00 ����ก 
     3.3 )���" ���� !"#�	$�����*"ก�"� 4.67 0.47 ����ก 
     3.4 )���" ���� !"#�	$�����5��$�)��0� 4.67 0.47 ����ก 
4. ก���6��$�������    
    4.1 �6��$����
G�������)���"� 4.67 0.47 ����ก 
    4.2 $5���
Q5$����!�6��$����
G����� 4.00 0.00 �� 
    4.3 �6��$����
G�����+�	��
�����
*"ก�"� 4.33 0.47 �� 
    4.4 �6��$����
G����� +�	��
�����
*"ก�"� +�	��
��ก��ก�0� 

4.67 0.47 ����ก 

5. ก��#�	����������$6���,�    
    5.1 -������5�&��&�����)���"� 4.33 0.47 �� 
    5.2 -������5�&��&����#7�$5���
Q5 4.67 0.47 ����ก 
    5.3 -������5�&��&�����*"ก�"� 4.33 0.47 �� 
    5.4 -������5�&��&�����ก*�'$"�+�	$����
��
ก��*���
�� 

4.33 0.47 �� 

�4���% 4.50  ����ก 
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 ��ก ����  6  &)�5��5��Y��'���ก��#�	����+))#�	������ก���6��������  ��
�5��Y��'� 
(Χ  = 4.50)  K�'����5���	��)����ก  (����ก/�����ก �  
�
�  136-137) 
 
0
�
$  7  +$���5��Y��'� (Χ ) �5�$5���)�'���)��� �Z�� (S.D.) ��ก��#�	����+))#�	����  
                 ก�	)��ก��*6����   
 

n = 3 
���ก�� 

Χ  S.D. 
�	��)�"0/�& 

1. ก���
���
�+�	��)����
����    
    1.1 $����!�
���
��
����*�' 
��ก����
�&���
)��$5�� 

4.67 0.47 ����ก 

    1.2 $����!�
���
��
����*�' 
��ก����
�#7�  $5��
�
Q5 

4.00 0.00 �� 

    1.3 $����!�
���
��
����*�' 
��ก����
��)!
�� 4.33 0.47 �� 
    1.4 $����!�
���
��
����*�' 
��ก����
��5��
��)!
�� +�	���
����*�'
��ก
��� 

4.67 0.47 ����ก 

2. ก��+)5�#b��
����*�'��
��กก���
���
�    
    2.1 �6��
����*�'��
��กก���
���
��$����ก�"5�
)��$5�� 

4.33 0.47 �� 

    2.2 �6��
����*�'��
��กก���
���
��$���

ก�"5��#7�
$5���
Q5 

4.67 0.47 ����ก 

    2.3 �6��
����*�'��
��กก���
���
��$���

ก�"5�
��5����)!
�� 

4.67 0.47 ����ก 

2.4 �6��$���
����*�'��
��ก���
���
��$���

ก�"5�
��5����)!
�� 

4.33 0.47 �� 

3. ก���6�����ก�� ��)*)�**�'��
��)��)
���    
    3.1 �6�����ก�� ��*�'��
��)��)
�����
�&���
)��$5�� 

4.33 0.47 �� 

    3.2 �6�����ก�� ��*�'��
��)��)
�����
�#7�$5��
�
Q5 

5.00 0.00 ����ก 
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0
�
$  7  ( 5�) 
 

n = 3 
���ก�� 

Χ  S.D. 
�	��)�"0/�& 

    3.3 �6�����ก�� ��*�'��
��)��)
�����
��5��
��)!
�� 

4.67 0.47 ����ก 

    3.4 �6�����ก����
��)!
��+�	��#�	$�*.�/�& 4.67 0.47 ����ก 
4. ก�� ��$����    
     4.1  ��$����-�������#�	-�G����� �����#7�

��ก 

4.67 0.47 ����ก 

     4.2  ��$����-�������#�	-�G�����ก�"5�$5��
�
Q5 

4.00 0.00 �� 

     4.3  ��$����-�������#�	-�G�����ก�"5��$�� 4.67 0.47 ����ก 
     4.4  ��$����-�������#�	-�G�����ก�"5�-��
 ��� 

4.67 0.47 ����ก 

5. ก�� �� 5�����    
    5.1 �5��#e�)� ����ก�)ก�"5� ������)������� 4.33 0.47 �� 
    5.2 �5��#e�)� ����ก�)ก�"5� �������#7�$5���
Q5 4.67 0.47 ����ก 
    5.3 �5��#e�)� ����ก�)ก�"5� ������*"ก����� 4.33 0.47 �� 
    5.4 �5��#e�)� ����ก�)ก�"5� ������*"ก����� +�	��
#�	$�*.�/�& 

4.67 0.47 ����ก 

�4���% 4.52  ����ก 
 

��ก ����  7  &)�5��5��Y��'���ก��#�	����+))#�	����ก�	)��ก��*6���� ��
�5��Y��'�      
(Χ  = 4.52)  K�'����5���	��)����ก  (����ก/�����ก  �  
�
� 138-139) 

 
 
 
 
 



 

93 

4.5  ��ก
������
���������������=
���
�,
$,�>?��$& ก���%&02������%&
���$����&��-�  ��.��$/��$$
&���,���0��� 

        ก��������	
��
������ก����ก������&��&��������ก����� 5�)*�����+$����
)���,)  
��%'��-���������&��� ���  �0	��
��ก���
���
���
*6�ก��������	
��
����-���6���0
��5��Y��'�
$5���)�'���)��� �Z���
��-#�+ก��$6���,���#  ��ก��������	
��
���� �������� 
 
0
�
$  8  +$���5��Y��'� (Χ ) �5�$5���)�'���)��� �Z�� (S.D.) +�	�	��)����&��&������  
                 ��ก����� 5�)*�����+$����
)���,)  ��%'��-���������&��� ���   

 
�	��)�ก01���������
,�K�'��$��+�	-��  john w.best, 1983  (ก�Q���  ��(���", 

2544, 
�
� 61)  +)5���
�#7�  5  �	��)  ������ 
4.50 T 5.00  ��ก*�'$"� 

  3.50 T 4.49  ��ก 
  2.50 T 3.49  #��ก��� 

 1.50 T 2.49  �
�� 
 1.00 T 1.49  �
��*�'$"� 
 

n = 26 
���ก�� 

Χ  S.D. 
�	��)�"0/�& 

�&.6��
 (Content) 
1. -���$�
����%��
�G�����������$��&��.� 5���%'�� 

 
4.33 

 
0.88 

 
��ก 

2. ��%��
�*�'�6��$�� ��+�	���)��"� ��
�"�#�	$��� (Objective) 

4.07 0.78 ��ก 

3. �G
/���!�ก 
���
��	$� (����
�����+�	�$���
)�����) 

4.33 0.83 ��ก 

4. ��%��
��������
��	$�ก�)�	��)��
����� 4.33 0.62 ��ก 
ก
���ก�������ก
����%&ก
���&    
5. ก6�
���"�#�	$���G�����  4.07 1.00 ��ก 
6. ก����ก+))�#7��	))�6��$��!�ก 
�� ���6���)
�������#�	�/*$%'�����a  

4.19 0.83 ��ก 
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0
�
$  8  (02�) 
 

n = 26 
���ก�� 

Χ  S.D. 
�	��)�"0/�& 

7. ก��"*.ก���6��$������������$��� 4.15 0.86 ��ก 
8. ���������$�
��$������ก����ก+))-#�+ก�� 4.07 1.00 ��ก 
9. ��#e�$��&��.��	
�5����
�����ก�))*����� ��
�����ก�)
��
$��                    

4.04 0.76 ��ก 

10. �G%'��-���#���+
�5�������
�%'�a 4.15 0.86 ��ก 
11. ก����ก+))$�������+ ก 5���	
�5��)"���
$5��$��������5���%��	
�5����
����� (Collaborative  
Learning) 

4.11 0.97 ��ก 

12. �

-�ก�$��
�������)�"��6���)ก���������
��5��
�
��	$� 

4.19 1.04 ��ก 

13. ��+))opก#e�)� �+�	ก��#�	������*�'���)��"�
�"�#�	$��� 

4.04 1.22 ��ก 

14. ��ก��#q��ก��) (feedback) �&%'��$���+����5��
�
��	$� 

4.07 1.38 ��ก 

15. $5��$����

��
�������
��ก���  ������	
� 4.56 1.48 ��ก*�'$"� 
16. ��ก$����5�%�ก���G
-#�+ก���
��	$�  G����� 4.22 1.78 ��ก 
ก
���ก����&�
?� (Screen Design)    
17. ก������������#�	ก�)��
$��$5��  $�����  
�5�� 5�ก���G
��� 

4.11 0.97 ��ก 

18. ��#+)) ����ก��������  $�  G�����  �5���5�� 
�
��	$�ก�)��
�����  

4.19 0.79 ��ก 

19. ก����%�ก�G
$��������
��	$�  ก��ก�%� 4.04 0.71 ��ก 
20. ก��$%'�����
���$����
��ก�)+�������%��
� 
(Theme) 

4.22 0.64 ��ก 
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0
�
$  8  (02�) 
 

n = 26 
���ก�� 

Χ  S.D. 
�	��)�"0/�& 

21. #"w� (Button) $�Q��# (Icon) �
�����  +!)
�
�����  ��#/�&$%'�$��ก�)��
�G
�
��	$�!�ก 
��   

4.41 0.69 ��ก 

���&��    
22. +$������5��!�ก 
���5��)����K��� Internet 
Explorer 4.0 
�%� Netscape  4.0  �����# 

4.30 0.95 ��ก 

23. ����!�ก 
�����  Web Programming �G5�  
�	))�
������
�����  �	))#�	������ก������� 

4.26 0.81 ��ก 

24. ก��+$����/����*�!�ก 
�� 4.19 0.68 ��ก 
25. ก���G%'��-�� (link) �#����"� 5��a �|�� 5��a 
!�ก 
�� 

4.59 0.57 ��ก*�'$"� 

26. /�&  �$���*�'�G
#�	ก�)+$������
!�ก 
��  
�����,� 

4.26 0.81 ��ก 

�4���% 4.21 0.92 ��ก 
 

 ��ก ����  8  &)�5�  �5��Y��'���ก��#�	��������&��&���)*�����+$����
)���,)  ��%'��
-���������&��� ��������ก�����  ��
�5��Y��'� (Χ  = 4.21)  K�'����5���	��)��ก  (����ก/�����ก 
Y  
�
�  153-154) 

��%'�&����0���+ 5�	�
��&)�5�  ����&��&��������ก����� 5�)*�����+$����
)���,) 
��%'��-���������&��� ���  ���5��Y��'����5�	
�5��  4.00 T 4.60  K�'����5���	��)��ก*�'$"� 2 ���ก�� 
+�	���5���	��)��ก  2  ���ก��  -�����5��Y��'������ ���6���)������  �
���*�������5���	��)��ก
*�'$"�  (Χ  = 4.59)  �
��ก����ก+))�	))ก�������ก��$�����5���	��)��ก*�'$"� (Χ = 4.56)  
�
����%��
����5���	��)��ก  (Χ  = 4.33)  �
��ก����ก+))
�
��� ���5���	��)��ก (Χ = 4.41)   


